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What is meant by “Fixed Capital® of a partner? (1)

Abha and Bharat were partners. They shared profits and losses equally. On 1% April 2014, their
capital accounts showed balances of €3,00,000 and 22,00,000 respectively. Calculate the amount
of profit to be distributed between the partners if the partnership deed for interest on
capital @10% p.a. and the firm earned a profit of 250,000 { vear 015.(1

Umwhﬁt circumstances premi :

‘b: mmrdcd in the hnnks of accuum'? (1)
On dissolution of a firm, in whaI order , the money re
for payment . (1)

- Wik
partner forus"m;nﬂxm

A group of 60 persons want to form a partnership bus
in support of your answer.

services to the industrial firms. They admitted C into
MBA, would help them to expand their business. C is
in any year will not be less than T 5, 00, 000. M‘
equally. Loss for the current year ended on 31% March, 2
Pass necessary Journal entries in the books of the ﬂ:rm.

A.B.C and D were partners sharing profits in the ratio of 1:2:3




Lh

4 years, Average

2 )
- v

Sunil will not contribute any capital.

surrenders 1/2 of her share in-favour

(i) Identify any four values whic
the partnership firm,

(i}  Calculate Sacrificing ratig.

(i) Calculate new ratio.

X Y and Z are partners. Their fixed capitals as on 1 Apr
¥10,00,000 and 7- # 15,00,000. Profit for the year 2015-16
distributed in the ratio of capitals after providing for the
(8) X’s salary ¥1.20,000 p.a. ang Y’s commission of 240,

(b) Interest on capitals: X - T 50,000;
(c) Interest on Drawings: X-z 30.000

Drawings and Partners® salary and ¢

Pass the necessary single adjustmen

working notes,

acquired by A and B egually. soodwil] v

& £
The partnership deed Wwas silent as to sha

of Sunijl, 4 NEW partner.
h according to you moHvate

.

Y- 1,00,000 ;
$50.000; Z.

=
¥ .
e

o
PRI

- R




-2015, their firm was
bilities to realization

Lal and Pal were partners in 2 ﬁrmsimringpmf'rfs in the ratio of 3:7, On 1-4

dissolved. Afier transferring Assets (other than cash) and outsider’s lia
dccount.you are given the following information:

(¢) A third creditor amounting to T 90,000 ace

43,000 in ful] settlement of his claim.
(d) Loss on dissolution was ¥15.000.

Pass journal entries for the above i sactions.

" Imeeston Capital a1 5% p.,, —

(®)  Interest on drawings at 6% p-a. Each partner drew 2 10,000 on July 1, 2011,

(c) T 20,000 is to be transferred to a Reseryve Account,

(d)  Profit and Loss to be shared in the proportion of 3: 2- | upto T 60,000 and ahove
260,000 equally,

Net profit of the firm before above adjustments was 2 , 15,400 as on 31* Dec
From the above information, brepare Profit and Loss Apnronsissie i
a m !f., F'_ v T ._'_

F bt

=

015, the Balance Sheet of Punit, Rahul and Semm
Balance Sheet
_As at 31" March, 2015

140,000 | Stock
20,000 Cash
14,000

1.74.000
were sharing Profit and Loss in the
Seema died on Oﬂobﬂl’ L 2{“5.‘ -':_-=:-= ho
that e
@ Goodwill will be valued

}m.., v

Tatio 5:3:2.

e

-




17.

I8.
19.

30,000
3.00,000 3.00,000

Liabilities
Creditors
Capital A/es:

1,20,000
A 1,50,000 Stock 60,000
B 80,000 2.30.000 | Furniture 50,000 |
Goodwill

(v) Nitm amounting
of which 7 2,000 is

You are required 1o prepare R
Sheet of the new firm.

On Ist January, 2011, X, Y.and Z started business shainc
3:2: 1 respectively. They contributed ¥ 1,00,000, 7
Capitalswhich was deposited into Bank. Each Partner
firm was dissolved on 315 December, 2011. X took |

Y took up furniture a ¥ 5,000 and Z took up de
then remained a balanced of 2 14,000 in the B

Prepare the necessary accounts to show the result of
ﬂl'm. t

PART B- ANALYSIS OF FINANCIAL STATEMENTS

Distinguish between Inter firm and Intra firm Analysis,

Give one transaction that does not appear in cash flow statement with reasons, (1)
Define cash & cash equivalents.



(a) How will you disclose purchase of goodwill in Cash Flow Statement?
(b). Under what heads and subheads the following items will appear in the Balance Sheet of a
company.
q@fu‘ands (i) Discount on issue of debentures  (iii) Matured Debentures.
*v) Excess Application money refundable (v) Livestock (vi) Computer software
~~vii) Interest accrued and due ( viii) Interest on calls in advance (ix) Share forfeiture Afc.(1+9)
',.-""' =

2. (a) On the basis of the following information, calculate . .—

(i)Debt-Equity Ratio, and (i1) Working Capital Turnover Ratio (iii) Current ratio
Particulars
Net Sales - 60.00,000
Cost of Goods Sold - F 45,00,000
Other Cumrent Assets — A - ——— 11.00,000
Current Lishilities 4.00,000
Paid-up Share Capital 6,00.000
9% Loan _ 1,000,000
Debenture Redemption Reserve (DRR) (g,ﬂﬂ.ﬂﬂ-@»
Closing Stock . 1,00,000

(b) Interpret” Too high Debt Equity ratio™. (6)

23. , Prepare Comparative Income Statement from the following:
Particulars 31° March, 2011 | 31" March, 2012
T - L4

Revenue from operation 10,00,000 12,50,000
Cost of material consumed X 7.50,000
Expenses (wagqes) 40,000 50,000

Interest on Investments 2 50,000 and Taxes Payable @ 50%. 4)

g 11l partll of

24,  From the following information prepare Statement of P
@ mpanies act 2013:
Revenue from operations
Return inwards
Carriage inward

Bank charges

Interest received 3,000

Purchase of Stock in trade 7,000

Purchase of raw material 2,000

Opening stock of raw material 500

Amortisation expenses 1,500 (6)

25, From the following information, prepare Cash Flow
BALANCE SHEET . -
As at 31% March. 2016 and 2005 -




3. Current liabilities

Total . 5.,60,000 5,00,000

ILLASSETS

2. Long term borrowings
10%Debentures

3. Carreant liabilities =

Additional Information:

(i) Debentures were redeemed on 17 April, 2015.

(ii) During the year, a machine included in Fixed assets
having book value of ¥18,000 was sold at a loss of

(6)




